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Figure A3.4 Three-door vertical closed transparent display case, where the distance “L” is
the collective length of portions of the merchandiser through which product can be seen,
including the linear dimension of transparent (Lt;) and non-transparent (Lnt,) areas,

provided the total linear dimension of non-transparent areas are less than S inches.
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Figure A3.5 Three-door vertical closed transparent display case, where the distance “L” is

including the linear dimension of transparent (L) and non-transparent (Lnt,) areas, and

the total linear dimension of non-transparent areas is greater than 5 inches.



